2. (a) Simplify 4x + 3y — 2x + Sy
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Compasses cost ¢ pence each.
Rulers cost r pence each.

(b) Write down an expression for the total cost, in pence, of 2 compasses and 4 rulers.
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(Total 4 marks)




1. Simplify 6x + 9y + 2x - 3y
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h=5+2

(a) (1) Work out the value of h when 1= -2
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1. (a) Simplify 2a+3b—<a-b Q—O\ o q
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(b) Expand  4(2m — 3n)
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. (a) Simplify She + 2be — 4be
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(b) Simplify 4x + 3y — 2x + 2y
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(¢) Simplify mxmxm M

e S

N < v ~ WA —+

---------------------------------

AVA Tl in &

(d) Simplify 3nx2p
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2. (a) Simplify PXPDXpDXp ﬂ

(b) Simplify 2c¢ x 3d
Adar 8

(Total 2 ma)




3. (@) p=2
qg= -4

Work out the value of 3p + 5¢
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